[TonyuuTh ypaBHeHHe NBHKEHHS KyJHCHOTrO MexaHn3Ma. HaliTu 3HaueHne
YIJIOBOTO yCKOpeHUs ¢ npu t = 0.

Bapuanr 1
MDz = M() — k)UJ3Z,

My, = —pws,,
Mo = 9Hwm, k = 15Hwmc,
u = 15Hwmc,

I = 6KI‘M2, meo = 14K,
ms = 32KT, my4 = 24KT,
Ry = 38cMm, r1 = 27cM,
R3 = 28cm, R4 = 20cM,
rqs = 12¢cMm, i4 = 13cM,
$1,0 = 1.1, Wi,,0 = 05%

Bapuanr 2
MDz = M() — k)UJ3Z,
an = —pw4,,
an = —VUs,,

My = 9HwMm, k = 12Hwmc,
v = 8kHc/m, u = 12Hmc,
I = 6KFM2, mso = 16KT,
ms = 34Kr, m4 = 26KT,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqy = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 02%

Bapuanr 3

Mp, = Mo — kws.,,

an = —Hw4_,

My = 10HwMm, k£ = 15HwMmc,
uw=12Hwmc, I = 9KrM2,
meo = 16Kr, ms = 34Kr,
my = 206KT, ms = 4KT,
Ry = 38cm, r; = 27cwM,
Rs3 = 28cm, Ry = 20cM,
rqs = 12cM, 14 = 15cM,
1,0 =13, w10 =052

Bapuant 4

MDz = Mo — kaz,
an = —Hw4,,

Moy = 10Hm,k = 13Hwmc,
u=11Hwme, I = 7KFM2,
meo = 17Kr, ms = 35Kr,
my4 = 27TKT, ms = 4KT,
Ry = 36¢cm, 11 = 25ceM,
R3 = 26¢cm, Ry = 20c¢M,
rqs = 12¢cM, 14 = 16cM,
rs = 10cMm,

$1,0 = 1.4, Wi,,0 = 03%




Bapuanr 5

MDz = Mo —kw:gz,

an = _Mw427
My = 11Hwm, k£ = 13Hwmc,
u = 13Hwmc,

I = 12krm?, mo = 16k,
ms = 34Kr, m4 = 26KT,
Ry = 36¢cm, 11 = 25cM,
R3 = 26¢cMm, Ry = 20cM,
rqs = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 0.3%A

Bapuanr 6

MDz = Mo — kaz,

an = —Hw4,,

My = 10HwMm, £ = 11Hwmc,
u=12Hwmc, I = 7KFM2,
meo = 17Kr, ms = 35Kr,
my = 27KT, ms = DKT,
Ry = 34cwm, r; = 23cm,
R3 = 24CM, R4 = QOCM,
rqs = 12cM, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 01%

Bapuant 7

MDz = Mo — kw1z,

an = —Hw4_,

an = —UVVUs,,

Mo = 12Hwm, k£ = 12Hwmc,
v = 30Hc/m, p = 13Hwme,
I = 15K1"M2, mo = 16KT,
ms = 34Kr, ma4 = 26K,
Ry = 35cmM, r1 = 24cm,
R3 = 25CM, R4 = QOCMy
rqs = 12¢cM, i4 = 15cM,
$1,0 = 1.3, Wi,,0 = 0.2%.

MDz = M() — k)UJ3Z,
an = —pw4,,

My = 9Hwm,k = 11Hwmc,
w=13Hwmc, I = 6KIrM2,
ms = 16Kr, ms = 34kKr,
my = 206KT, ms = 4KT,
Ry = 34cm, r1 = 23cM,
Rs = 24cMm, Ry = 20cwM,
rqs = 12cM, 14 = 15cM,
rs = 10cMm,

$1,0 = 1.3, Wi,,0 = 01%




Bapuanr 9

MDz = Mo — kaz,

M, = —pws.,

Mo = 12Hwm,k = 11Hwmc,
uw=12Hwmc, I = 15K1"M2,
mg = 17Kr, ms = 35Kr,
my4 = 27TKT, ms = TKT,
Ry = 34cwm, r; = 23cm,
R3 = 24CM, R4 = QOCM,
rqs = 12cM, 14 = 16¢M,

rs = 12cmMm,

$1,0 = 1.4, Wi,,0 = 0.1%.

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —UVVs,,

My = 9HwMm, k = 12Hwmc,
v = 40Hc/m, p = 14Hwme,
I, = 6xrm?, mo = 14kr,
ms = 32KTI, my4 = 24Kr,
Ry = 35cmM, r1 = 24cm,
R3 = 25CM, R4 = QOCMy
rqy = 12cM, 14 = 13cM,
$1,0 = 1.1, Wi,,0 = 02%

Bapuant 11

Mp, = Mo — kws.,,

M, = —pws.,

F,, = —vus,,

My = 11Hwm, k£ = 13Hwmc,
v = 40Hc/m, g = 11Hwme,
I = 11krM2, me = 17kT,
mgs = 35Kr, m4 = 27KT,
Ry = 36cm, 11 = 25cM,
R3 = 26cMm, Ry = 12cM,
$1,0 = 1.4, Wi,,0 = 03%

Bapuant 12

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

My = 13Hwm, k£ = 11Hwmc,
v = 40Hc/m, g = 12Hwme,
I = 19xrm2, mo = 17kT,
ms = 35Kr, my4 = 27KT,
Ry = 34cm, r1 = 23cM,
R3 = 24CM, R4 = 12CM,
$1,0 = 1.4, Wi,,0 = 01%




Bapuant 13

MDz = Mo — kaz,

My, = —pwa,,

Moy = 11Hwm,k = 14Hwmc,
u=13Hwme, I = 12K1"M2,
meo = 16Kr, ms = 34Kr,
myg = 26Kr, ms = 60Kr,
Ry = 37cwm, r; = 26¢M,
Rs3 = 27cm, Ry = 20cM,
rqs = 12cM, 14 = 15cM,

rs = 16¢Mm,

$1,0 = 1.3, Wi,,0 = 0.4%.

Bapuanr 14

MDz = M() — k)UJ3Z,

M, = —pws,,

an = —VUs,,

My = 9HwMm, k = 14Hwmc,
v = 55Hc/m, = 14Hwme,
I = 6KFM2, meo = 14Kr,
ms = 32KT, my4 = 24Kr,
Ry = 37cmM, r1 = 26¢M,
Rs = 27cMm, Ry = 12¢wM,
$1,0 = 1.1, Wi,,0 = 0.4%.

Bapuanr 15

MDz = M() — k)UJ3Z,

M, = —pws.,

Mo = 11Hwm,k = 14Hwmc,
w=12Hwmc, I = 12krm?,
ms = 16Kr, ms = 34kKr,
mgq = 26Kr, ms = HOKT,
Ry = 37cMm, r1 = 26¢M,
R3 = 27CM, R4 = QOCMy
rqy = 12¢cMm, 14 = 15cm,

rs = 16cMm,

$1,0 = 1.3, Wi,,0 = 04%

Bapuanr 16

MDz = Mo - kw1z,

My, = —pwa,,

Mo = 12Hwm,k = 14Hwmc,
uw=12Hwmc, I = 15K1"M2,
meo = 16Kr, ms = 34Kr,
my = 206KT, ms = OKT,
Ry = 37cwm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20cM,
rqs = 12cM, 14 = 15cM,

rs = 13cm,

$1,0 = 1.3, Wi,,0 = 0.4%.




Bapuant 17

Mp, = Mo — kws.,

M, = —pws,,

Moy = 11Hwm, k£ = 12Hwmc,
uw=12Hwmc, I = 12xrm?,
meo = 16Kr, ms = 34Kr,
my4 = 206KT, ms = DKT,
Ry = 35¢cm, 11 = 24cwm,
Rs3 = 25cm, Ry = 20c¢M,
rqs = 12cM, 14 = 15cM,
$1,0 = 1.3, Wi,,0 = 02%

Bapuanr 18

Mp, = Mo — kws_,

M, = —pws,,

F,, = —vus,,

Mo = 9Hwm, k = 14Hwmc,
v = 35Hc/m, p = 14Hwme,
I = 7KI‘M2, meo = 15KT,
mg = 33KT, m4 = 25KT,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqs = 12¢cM, 14 = 14cM,
$1,0 = 1.2, Wi,,0 = 0.4%.

MDz = M() 7]4)14.)32,

an = —Hw4,,
Moy = 11Hwm, k = 11Hwmc,
1 = 13Hwme,

I = 12K1"M2, mo = 16KT,
ms = 34Kr, ma4 = 26K,
Ry = 34cm, r1 = 23cM,
Rs = 24cMm, R4 = 20cM,
rqy = 12¢cMm, 14 = 15cm,
$1,0 = 1.3, Wi,,0 = 0.1%.

Bapuanr 20

MDz = M() — k)UJ3Z,

M, = —pws,,

F,, = —vus,,

My = 9HwMm, k = 12Hwmc,
v = 50Hc/m, p = 14HwMmc,
I = Txkrm?, mo = 15kr,
ms = 33KTI, m4 = 25KT,
Ry = 35cm, 11 = 24cwm,
Rs3 = 25¢cm, Ry = 20c¢M,
rqy = 12¢cM, 74 = 14cM,
$1,0 = 1.2, Wi,,0 = 02%




Bapuant 21

MDz = Mo — kaz,

M, = —pws,,

F,, = —vus,,

Moy = 11Hwm, k = 14Hwmc,
v = 25Hc/m, = 11Hwme,
I = 11KI‘M2, meo = 17TKT,
ms = 35Kr, m4 = 27KT,
Ry = 37cMm, r1 = 26¢M,
Rs3 = 27cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 0.4%.

MDz = M() — kwlz,

M, = —pws,,

Moy = 11Hwm, k = 14Hwmc,
w=13Hwme, I = 11krm?,
meo = 15Kr, ms = 33Kr,
ma4 = 2DKT, ms = DKT,
Ry = 37cMm, r1 = 26¢M,
R3 = 27cm, Ry = 20c¢M,
rqs = 12¢cM, 14 = 14cM,
$1,0 = 1.2, Wi,,0 = 0.4%.

Bapuaur 23

MDz = M() — kwlz,

M, = —pws,,

an = —UVVUs,,

Mo = 11Hwm, k£ = 12Hwmc,
v = 8kHc/m, u = 14Hwmc,
I = 11K1"M2, meo = 1DKrT,
ms = 33KTI, m4 = 25KT,
Ry = 35cm, 11 = 24cwm,
R3 = 25CM, R4 = QOCMy
rqy = 12¢cM, 74 = 14cM,
$1,0 = 1.2, Wi,,0 = 02%

Bapuant 24

MDz = Mo — kw1z,

M, = —pws,,

F,, = —vus,,

Moy = 13Hwm, k = 11Hwmc,
v = 8kHc/m, = 11Hwmc,
I = 19KI‘M2, meo = 17TKT,
mgs = 35Kr, m4 = 27KT,
Ry = 34cm, r1 = 23cM,
R3 = 24CM, R4 = QOCM,
rqy = 12¢cMm, 14 = 16¢M,
$1,0 = 1.4, Wi,,0 = 0.1%.




Bapuaur 25

MDz = Mo — kaz,

My, = —pwa,,

F,, = —vus,,

Mo = 9Hwm, k = 11Hwmc,
v = 40Hc/m, p = 15Hwme,
I = 6KI‘M2, meo = 14K,
ms = 32KT, ma4 = 24Kr,
R1 = 34cm, 1 = 23cm,
R3 = 24CM, R4 = QOCM,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 0.1%.

Bapuaur 26

MDz = M() — k)UJ3Z,
My, = —pwa,,

Moy = 8Hwm,k = 15Hwmc,
p = 15Hmc, I; = 5krm?,
meo = 14Kr, ms = 32Kr,
mg = 24Kr, ms = 3KT,
Ry = 38cMm, r1 = 27cM,
R3 = 28cwm, Ry = 20cM,
rqy = 12cMm, 14 = 13cm,
rs = llcm,

$1,0 = 1.1, Wi,,0 = 05%

Mp, = Mo — kws_,

M, = —pws.,

F,, = —vus,,

My = 8Hwm, k = 13Hwmc,
v = 40Hc/m, p = 15Hwme,
I = 5xrm?2, mo = 14kr,
ms = 32KT, ma4 = 24Kr,
Ry = 36cm, 11 = 25cM,
Rs3 = 26¢cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 13cm,
$1,0 = 1.1, Wi,,0 = 03%

MDz = M() — kwlz,

My, = —pwa,,

Mo = 11Hwm,k = 12Hwmc,
w=13Hwmc, I = 11krm?,
meo = 15Kr, ms = 33Kr,
mq4 = 2DKT, ms = DKT,
Ry = 35cmM, r1 = 24cm,
Rs3 = 25¢cm, Ry = 20c¢M,
rqs = 12¢cM, 14 = 14cM,

rs = 13cMm,

$1,0 = 1.2, Wi,,0 = 0.2%.




Bapuant 29

MDz = Mo — kaz,

M, = —jwa.,

F,, = —vus,,

My = 12Hwm, k£ = 12Hwmc,
v = 25Hc/m, = 12Hwme,
I = 15KI‘M2, meo = 17TKT,
ms = 35Kr, my4 = 27KT,
Ry = 35cmM, r1 = 24cm,
Rs3 = 25¢cm, Ry = 20c¢M,
rqy = 12¢cMm, 14 = 16¢M,
010 =14, w1 0=02L

Bapuaur 30

Mp, = Mo — kw1,
M, = —pwa_,

My = 10Hwm,k = 13Hwmc,
w = 15Hwme, I = TRIMZ,
meo = 14Kr, ms = 32Kr,
my4 = 24KT, ms = DKT,
Ry = 36cm, r1 = 25cM,
R3 = 26¢cm, Ry = 20c¢M,
rqy = 12cMm, 14 = 13cm,
rs = 13cMm,

$1,0 = 1.1, Wi,,0 = 03%




OtBeThl

T = (¢?/2)(A + Bsin? @)

A B Q €
1 8.310 1.555 | -54.760 | -6.327
2 | 8.083 1.461 | -23.905 | -2.534
3 | 11.455 | 4.938 | -11.429 | -0.732
4 | 9.268 | 4.323 | -27.176 | -2.023
5 | 14.203 | 1.586 | -39.771 | -2.775
6 | 9.023 | 1.909 | -11.245 | -1.034
7 | 17.082 | 4.759 | -2.338 | -0.111
8 | 7.965 | 1.649 | -24.013 | -2.970
9 |17.023 | 1.925 | -15.301 | -0.810
10 | 7.960 | 13.097 | -43.175 | -2.363
11 | 13.268 | 3.594 | -9.069 | -0.544
12 | 21.023 | 3.042 6.797 0.283
13 | 14.327 | 3.530 | -4.258 | -0.250
14 | 8.190 | 3.380 | -48.454 | -4.476
15 | 14.327 | 7.208 | -5.550 | -0.278
16 | 17.327 | 4.250 -2.717 -0.144
17 | 14.083 | 4.062 | -47.922 | -2.687
18 | 9.259 | 2.012 -5.354 | -0.496
19 | 13.965 | 1.342 | -33.381 | -2.374
20 | 9.021 1.342 6.246 0.611
21 | 13.396 | 6.219 | -20.169 | -1.046
22 | 13.259 | 4.253 4.005 0.223
23 | 13.021 | 3.010 -7.712 | -0.496
24 | 21.023 | 1.814 8.780 0.385
25 | 7.850 | 2.547 | -16.963 | -1.719
26 | 7.310 1.816 | -11.512 | -1.336
27 | 7.074 | 1408 1.823 0.216
28 | 13.021 | 3.124 | -2.008 | -0.146
29 | 17.144 | 2.059 | -24.332 | -1.272
30 | 9.074 1.619 4.614 0.440




